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1 |E 3= 424 424 100.0 305 305 100.0
2 (4 % 2,569 2,280 88.8 2,200 2,172 98.7
3 |F #* 1,404 1,372 97.7 1,292 1,255 97.1
4 [® it 2,641 2,641 100.0 2,183 2,183 100.0
5 |k B 874 874 100.0 839 839 100.0
6 |%& B 1,188 1,188 100.0 1,321 1,316 99.6
7 |F = 3,950 3,950 100.0 3,785 3,785 100.0
8 & = 458 458 100.0 419 419 100.0
9 |B§ Ed 5,606 5,606 100.0 4,187 4,187 100.0
10 |#& 4263 3937 92.4 3,555 3,364 946
11 [#r i 963 855 88.8 861 856 99.4
12 [E i1 937 928 99.0 1,404 1,311 934
13 ;E LN 803 791 98.5 1,050 1,037 98.8
14 |k B 2,356 2,343 99.4 2,069 2,058 995
15 i} 818 817 99.9 770 770 100.0
16 | K i 4,789 4,789 100.0 4,020 4,020 100.0
17 (B8 [i] 5,326 5326 100.0 5,025 5,025 100.0
18 | % P 1,639 1,639 100.0 1,360 1,360 100.0
19170 ¥ W 3,225 2,865 88.8 2,625 2,436 92.8
20 (1L (=3 3,167 3,035 95.8 2,963 2938 99.2
21 |f# 1L 1,872 1,837 98.1 1,169 1,151 98.5
22 |dh = 1,534 1,534 100.0 1,523 1,523 100.0
23 |1l m] 1,755 1,680 95.7 1,644 1,599 97.3
24 | & ) 3,569 3,569 100.0 3,320 3,320 100.0
25 |& 1B 886 886 100.0 937 937 100.0
26 |1 DL 3,747 3,747 100.0 3,227 3,227 100.0
27 (M &l 624 624 100.0 569 569 100.0
28 [ 5 2,645 2,598 98.2 2,530 2,508 99.1
29 (& ZN 2,612 2,612 100.0 2,556 2,556 100.0
0[E &Y /N 65 65 100.0 65 65 100.0
¢ F 18 787 787 100.0 745 745 100.0
28 & = B 660 660 100.0 629 629 100.0
& it 68,156 66,717 97.9 61,147 60,465 98.9

500 K K £ 4,164 4107 98.6 3,507 3473 99.0
I |400 ER LKL E 2,415 2,367 98.0 2,208 2,203 99.8
4 1300 BK L E 2,249 2,176 96.7 2,050 2,014 98.3

300 FE X i 767 754 98.2 765 753 98.4

_16_




